h

o

T
Ry
g%
I

/

1. ¥4
EHL BRI 2T DREREI) -SE5
AT T RIRIF KRBT e KR TF=Ri3—1—41

2. ¥HENRE

1) FHEI4

2) JEATHIM

IS KKEE P 7 —

320 HH

S T8 47150
S 8% 2 28H

3) BB

4) EHBNE

EtrEE T R



PRGN ER

B4 | HOKTHEIY AT LEREIR R ER B
H H HOK PRI 2T 2R E A L5535
HA - T - FE5 B {7 B & 4 %A OB N AR
UK PR AT DRERE[) 1452675 X 1 16, 429, 850
BAKTR S 2T LFEE R =X 1 16, 429, 850
A1 2V 1 253,300 | FHEHE(H
1 =
oK PR 7T 75 hDA A h—L = 1 6,126,850 | 7 Yo T APKTR T 1w 7T LD
PLAON L YERK 1 X
Prjtk PRI 2T ARG LT — &
DIERL - Bk 1 X
WARTR S AT DA VA F—I
1 X
HFER T — Z Pk AT LD A R
r—L 1 =
FHAEH AT LD A F—)L
1 X
HAKTFHIS 2T DI 5 X 1 2,105,500 | 3 AT AEMIESE S
1 X
PR R 3 & 2
1 X
RRIE 7 /LD TR E A _E = 1 7,211,300 | 464 B & HERE TR SRR 1T &
2 ¥ 52 7 1 X
TR ) O R ot
1 X
KNTF 2 — =2 7T & B P RKEEE
s 1 =
RRIEF /L Dk B
1 =
AN PRI S =2 L— 3 v
1 =
B R X 1 732,900 | WEEMER
1 =

-1- EtrEE T R



i
I
T
Tl
P=ai
I

XA | WOKTHIS T LRI S ER i HEHED
H H BLsii]
B E I % i 3 B {7 ¥ & & #A A BN R
i@ = 1 397, 920
i GREFER) = 1 397, 920
FTaws =X 1 262,500 | 1A
1 A
2 BR iR SV E R = 1 135, 420 | ZABRARKSE S ERK
1 eSS
[ERETES = = 1 455, 733
RS = 1 455, 733
i A oy 1 250, 733 | k¥ (FEtLE - EAME - 35
1 =
%%E}Z%lﬁlﬁzﬁk% it: 1 205, 000 %%Eﬁ%%f’?ﬁi%
1 =
EEFM (2 oMFEMmER<) oy 1 17, 283, 503
Z OJFEAT 2V 1 9, 061, 754
— N E B 2V 1 14, 184, 743
eSS 2V 1 40, 530, 000

-2 - EtrEE T R



